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APPENDIX -E

FINAL VERSION OF THE DIAGNOSTIC TEST

DIAGNOSTIC TESTS FOR MATHEMATICS-
(Please do all calculations on this test paper itself. Space for
rough work is provided)

TEST OF BASIC SKILLS IN ARITHMETIC

Add the following:
i) 351 i) 432 i) 200
+879 + 18 +564

iv)  267+0951+419

Subtract the following:

) 47 i) 523 iii) 649 iv)  780-187
- 31 - 215 - 15

Multiply the following:

i) 10 i) 810 i)  935x 127 iv) 13
Xx 5 x 20 x 12

Divide the following:

i) 36+ 6= ii) 525 +5= iii) 48+8=

iv)  1500+3 = v) 125 +4=

Fill in the blanks:

i) 4x =1 ii) 5+ =1

1 - : 2 L. 2 -

ni —_ X =1 v e &=

) 9 - ) 7 7

Rough Work
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TEST OF BASICS IN ALGEBRA
Rough Work
Add the following
1) ata=
i) at+b+at+b+b=
iii) Xytxy+1= +
iv) 22y+3x+x+y+5x= +
V) X+ +x =
vi) atb= +
Simplify
i)' bxbxb _
bxb
ii) axbxcxa _
2xaxbxb
Fill in the blanks:
i) S5xbxc=
ii) 4y = Xy
iii) ab = X
iv) X- =2d +2¢
V) 3(y+d)= +

Which are the variables in the following: Put a ‘0’ around it like this

31, x, ab, _L . | 25 t -4 b
2 c

q, 10, I, m, 100, n, rq

Rough Work
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TEST OF RATIONAL NUMBERS:

i) Which are the numerators in the following. Put a tick ‘v on it like tHiS-

6 12 AL 2 >

7 > 5 13 ° 9 12
i 3 x 2 =

7] 2

iii)  Put the rational numbers from the following:
Puta® O ¢ around it, like this

-1 7 -2
T T 64, -10 5 ""“5““‘

5 3 9 >

>

“ié“ , 25 31, 2 12

7 3

)

TEST OF FRACTIONS:

(With same denominators)
Add the following:

Subtract the following:

._-__.... _-__1._..
+ |: 3 =
Divide the following:

3. 3
7 7

e
.

2 —37

9

, 15, E

Rough Work
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(With different denominators)
Add the following:

)

+

+

-2 . L
3 4

Subtract the following:

el S N L O
5 J7L 6
Divide the following:
3 6

5 7

U'AIN -lklv—-'
blw ulﬂ

ii)

|

iii)

TEST OF INDICES
Multiply using indices:

) Px’=1 )=

i) 2x2°x27=20

iii) 3x3x3x3x3x3=3¢

v) 5x5x5=

vi)y  (D=(D=

vil) 3P x36D=(

vii) ) x(-Dx () x(-4)=(

28 =

(Write in expanded form)
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Rough Work

Pick out the base in the following. Put a tick ‘v” on it, like this 8/

2

(23) 4=90 )

26
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Pick out odd integers from the following. Put a circle O‘ around it like this@
26, 6, 9, 0, 4, 11, 17, 22, 33, 46, 100, 73

(With variable as base) Rough Work
Multiply using indices

1) axa=al ’

i) axaxaxab=al )bl )
i)  xyxxy=(y)' ’

Yob D

v)  xy=x{y
V) XY X YZ =XZ=

vi) b*xbxbi=bpt

w3 -
viii) %7:— = [—l;——]( )

X) cxcx2c=( y

(With rational base)

Multiply using indices:

- 1 1 1 | S
i) - X7 X % X %

o (3(2)
4
iii) [g}x[g

Fill in the blanks:

D [:%]3:____ iy [’%"“J _

1it) —213- =2( ) iv) =




VIL

V) 4‘2 5 _4—- ( )
3 3
TEST OF MONOMIAL — BINOMIAL MULTIPLICATION
Multiply the following:
i) ax+1)
i) (a+b)2c
iif) (Bx+y)z

iv) a(b+c¢)
V) (2x +3y)3r
vi)  x(y-2)

TEST OF BINOMIAL — BINOMIAL MULTIPLICATION
Multiply the following:

i) x+D)E+1)
i) (a+b)(a+b)
i) (2a+1)Ba+l)
v)  GBy-x(@2y+x)

TEST OF BRACKET EXPANSION:

Expand the following:

i) (a+b)

i &+ D?

iy (a+b)’

iv) (x+2)°

TEST OF LINEAR EQUATIONS:
Fill in the blanks:

1) Ifx+1=0 thenx=

it) Ifa=(-2) thena+2= +2

i) Put 2’ inplaceof ‘x’ inx +3 x+3=
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Rough Work

+3
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iv)  Find Value

a) Ify=3 b) Ify=-1
theny+2= +2 theny+2= +2
V) f3-x=0, then x =

vi) Put‘(-1) inplaceof ‘b’ in1+b
: 1+b=1+

vi) HK2x=1 then x =

vii) Ifa+1 =2 thena=

ix) I2+3b=8 thenb=

Rough work



